

Pay Estimate Created Date: March 14, 2023

Progress Estimate N 1	lumber		221118-A03 L. G. Barcus and				Original Contract Amount Net Change Order Amount Current Contract Amount	\$0.00		
Approval Date								By User		
March 14, 2023			Generated and A	pproved (a	nd should be considered	d Draft) at t	he Project Office Level by	summec1		
March 14, 2023		Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by								
March 17, 2023			F	Reviewed ar	nd Approved at the Cent	ral Office (Controllers Office Level by	ramses1		
Original Completio	n Date	Current Com	pletion Date	Actua	I Completion Date	% (of Current Contract Amount	Complete		
December 1, 20	23	Decembe	er 1, 2023				2.19%			
	Contra	ct Informational Da	tes		Milestones					
Date Description	Origina	al Completion Date	Current Comple	etion Date	No Milestones Exist fo	or Contract				
Acceptance Date										
Awarded Date	Decem	ber 6, 2022	December 6, 202	22						
Letting Date	Novem	ber 18, 2022	November 18, 20)22						
Notice to Proceed Date	Februar	ry 6, 2023	February 6, 2023	3						
Open to Traffic Date										
Work Began Date										

Contract Total Pay For Estimate No. 1				
	This Estimate	Previous	To Date	
221118-A03				
Total Posted Items I	Pay \$49,600.44	\$0.00	\$49,600.44	
Gross Item Adjustm	ents (\$9,600.44)	\$0.00	(\$9,600.44)	
Incentive	\$0.00	\$0.00	\$0.00	
Disincentive	\$0.00	\$0.00	\$0.00	
Liquidated Damage	\$0.00	\$0.00	\$0.00	
Other Contract Adju	stments \$0.00	\$0.00	\$0.00	
		<mark>\$0.00</mark>	\$40,000.00	
Contract Total Payable This Estimate:	\$40,000.00			

Contract Total Payable This Estimate:

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J1S3362	0150	6161005	CONSTRUCTION SIGNS	SQFT	\$8.250	212	\$1,749.00
	0160	6161008	ADVANCED WARNING RAIL SYSTEM	EA	\$50.000	2	\$100.00
	0170	6161030	TYPE III MOVEABLE BARRICADE	EA	\$200.000	14	\$2,800.00
	0310	8061019	SILT FENCE	LF	\$1.840	2,691	\$4,951.44
	0380	2160500	REMOVAL OF BRIDGES	LS	\$40,000.000	1	\$40,000.00
Project J1S3362	- Total						\$49,600.44
Overall - Total							\$49,600.44

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J1S3362	0150	CONSTRUCTION SIGNS	Overrun			-48	\$8.25	(\$396.00)
	0150	CONSTRUCTION SIGNS	Material			-212	\$8.25	(\$1,749.00)
	0150	CONSTRUCTION SIGNS	Overrun		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0001) due to user summec1 overridding Payment Estimate Exception 5 on the current Payment Estimate.	48	\$8.25	\$396.00
	0160	ADVANCED WARNING RAIL SYSTEM	Material			-2	\$50.00	(\$100.00)



Pay Estimate Created Date: March 14, 2023

Progre	ess Est	imate Number 1	Contract ID Prime Contra	221118 actor L. G. Ba		Pay Period Start See NTP Date Origins, Inc. Pay Period End March 14, 2023 Net C Curre	hange Order		.00
Project Number	Line No.	Item Desc	cription	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J1S3362	0170	TYPE II	I MOVEABLE BARRICADE	Material			-14	\$200.00	(\$2,800.00)
	0310		SILT FENCE	Material			-2,691	\$1.84	(\$4,951.44)
Total									(\$9,600.44)



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(Contract Project Inform	ation
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work
J1S3362	FAS S102(49)	Bridge replacement	С	LIVINGSTON	Rte C over Shoal Cre	ek Drainage Ditch	
Totals by J	Job Numbe	ers					
J1S3362		d Item Pay Item Adjustm		s Item Pay	This Estimate \$49,600.44 (\$9,600.44) \$40,000.00	Previous \$0.00 \$0.00 \$0.00	To Date \$49,600.44 (\$9,600.44) \$40,000.00
	Liqui	tive centive dated Damages Contract Adju		i	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J1S3362, Item 6161005, Project Item Line Number 0150, Material Set 616100596, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	waiting on certifications from contractor.	summec1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J1S3362, Item 6161008, Project Item Line Number 0160, Material Set 616100896, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	waiting on certifications from contractor.	summec1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J1S3362, Item 6161030, Project Item Line Number 0170, Material Set 616103096, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	waiting on certifications from contractor.	summec1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J1S3362, Item 8061019, Project Item Line Number 0310, Material Set 806101996, Material 1011GXT2 - Geotextile Fabric for TempSiltFence (T2) Acceptance Action Generic 1011GXT2 is insufficient.	waiting on certifications from contractor.	summec1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 221118-A03, Contract Project J1S3362, Project Item Line Number 0150, Contract Line Item Number 0150, Item 6161005, Minor Item.	waiting on certifications from contractor before making the change order.	summec1	Overridden



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Note: Posted Q	uantities	and Valu	es are b	ased on R	eport Generated date and can differ from the posted am	ount at th	e time the	e Estimate v	vas Gen	erated.		
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
221118-A03	J1S3362	0001	0010	2013000	CLEARING AND GRUBBING	1.00	0.00	1.00	ACRE	0.00	\$3,300.00	\$0.00
		0001	0020	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.00	\$3,300.00	\$0.00
		0001	0030	2031000	CLASS A EXCAVATION	560.00	0.00	560.00	CUYD	0.00	\$5.90	\$0.00
		0001	0040	2035500	EMBANKMENT IN PLACE	2,916.00	0.00	2,916.00	CUYD	0.00	\$13.00	\$0.00
		0001	0050	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	3,968.00	0.00	3,968.00	SQYD	0.00	\$6.00	\$0.00
		0001	0060	3105002	GRAVEL (A) OR CRUSHED STONE (B)	162.00	0.00	162.00	TONS	0.00	\$23.97	\$0.00
		0001	0070	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	328.70	0.00	328.70	TONS	0.00	\$210.00	\$0.00
		0001	0080	4013000	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE)	1,624.40	0.00	1,624.40	TONS	0.00	\$180.00	\$0.00
		0001	0090	4071005	TACK COAT	850.00	0.00	850.00	GAL	0.00	\$5.00	\$0.00
		0001	0100	6097000	ROCK LINING	135.00	0.00	135.00	CUYD	0.00	\$55.00	\$0.00
		0001	0110	6113010	FURNISHING TYPE 1 ROCK BLANKET	80.00	0.00	80.00	CUYD	0.00	\$36.13	\$0.00
		0001	0120	6113020	FURNISHING TYPE 2 ROCK BLANKET	923.00	0.00	923.00	CUYD	0.00	\$38.61	\$0.00
		0001	0130	6113030	PLACING TYPE 1 ROCK BLANKET	80.00	0.00	80.00	CUYD	0.00	\$43.00	\$0.00
		0001	0140	6113040	PLACING TYPE 2 ROCK BLANKET	923.00	0.00	923.00	CUYD	0.00	\$18.00	\$0.00
		0001	0150	6161005	CONSTRUCTION SIGNS	164.00	0.00	164.00	SQFT	212.00	\$8.25	\$1,749.00
		0001	0160	6161008	ADVANCED WARNING RAIL SYSTEM	2.00	0.00	2.00	EA	2.00	\$50.00	\$100.00
		0001	0170	6161030	TYPE III MOVEABLE BARRICADE	14.00	0.00	14.00	EA	14.00	\$200.00	\$2,800.00
		0001	0180	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.00	\$227,000.00	\$0.00
		0001	0190	6181020	ADDITIONAL MOBILIZATION FOR SEEDING	1.00	0.00	1.00	EA	0.00	\$600.00	\$0.00
		0001	0200	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	22.00	0.00	22.00	LF	0.00	\$25.00	\$0.00
		0001	0210	6200033	PREFORMED THERMOPLASTIC PAVEMENT MARKING, R/R	2.00	0.00	2.00	EA	0.00	\$1,800.00	\$0.00
		0001	0220	6206001C	CROSSING MARKER 4 IN. YELLOW STANDARD WATERBORNE PAVEMENT	2,712.00	0.00	2,712.00	LF	0.00	\$0.50	\$0.00
					MARKING PAINT, TYPE P BEADS							
		0001	0230	6240103A		1,385.00	0.00	1,385.00	SQYD	0.00	\$3.75	\$0.00
		0001	0240	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.00	\$10,000.00	\$0.00
		0001	0250	7250484	84 IN. PIPE GROUP C	44.00	0.00	44.00	LF	0.00	\$250.00	\$0.00
		0001	0260	7320884A	84 IN. OR ALLOWED SUBSTITUTE GROUP C FLARED END SECTION	1.00	0.00	1.00	EA	0.00	\$6,700.00	\$0.00
		0001	0270	8025006	MULCHING	0.60	0.00	0.60	ACRE	0.00	\$3,841.00	\$0.00
		0001	0280	8051000A	SEEDING - COOL SEASON GRASSES	0.60	0.00	0.60	ACRE	0.00	\$3,841.00	\$0.00
		0001	0290	8061016	SEDIMENT REMOVAL	32.00	0.00	32.00	CUYD	0.00	\$45.00	\$0.00
		0001	0300	8061017	TEMPORARY SEEDING	0.10	0.00	0.10	ACRE	0.00	\$5,335.00	\$0.00
		0001	0310	8061019	SILT FENCE	2,842.00	0.00	2,842.00	LF	2,691.00	\$1.84	\$4,951.44
		0001	0320	8061050	TYPE C BERM	318.00	0.00	318.00	LF	0.00	\$65.00	\$0.00
		0040	0330	9031010	CONCRETE FOOTINGS, EMBEDDED	1.10	0.00	1.10	CUYD	0.00	\$2,500.00	\$0.00
		0040	0340	9031270A	2 IN. PSST POST - 12 GA.	120.00	0.00	120.00	LF	0.00	\$12.00	\$0.00
		0040	0350	9031273A	DRIVEN POST ANCHOR FOR 2 IN. PSST - 7 GA.	12.00	0.00	12.00	EA	0.00	\$100.00	\$0.00
		0040	0360	9035004A	SH-FLAT SHEET	36.00	0.00	36.00	SQFT	0.00	\$20.00	\$0.00
		0070	0370	2061000	CLASS 1 EXCAVATION	155.00	0.00	155.00	CUYD	0.00	\$25.00	\$0.00
		0070	0380	2160500	REMOVAL OF BRIDGES	1.00	0.00	1.00	LS	1.00	\$40,000.00	\$40,000.00
		0070	0390	5031011A	BRIDGE APPROACH SLAB (MINOR ROAD)	120.00	0.00	120.00	SQYD	0.00	\$145.00	\$0.00
		0070	0400	7021212	GALVANIZED STRUCTURAL STEEL PILES (12 IN)	955.00	0.00	955.00	LF	0.00	\$53.25	\$0.00
		0070	0410	7021214	GALVANIZED STRUCTURAL STEEL PILES (14 IN)	1,146.00	0.00	1,146.00	LF	0.00	\$96.38	\$0.00
		0070	0420	7025002	PILE WAVE ANALYSIS	2.00	0.00	2.00	EA	0.00	\$800.00	\$0.00
		0070	0430	7027000	PILE POINT REINFORCEMENT	22.00	0.00	22.00	EA	0.00	\$125.00	\$0.00
		0070	0440	7032003	CLASS B CONCRETE (SUBSTRUCTURE)	173.90	0.00	173.90	CUYD	0.00	\$1,550.00	\$0.00

Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate) Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
221118-A03	J1S3362	0070	0450	7034216	TYPE H BARRIER	460.00	0.00	460.00	LF	0.00	\$106.00	\$0.00
		0070	0460	7034222	SLAB ON CONCRETE BEAM	680.00	0.00	680.00	SQYD	0.00	\$660.00	\$0.00
		0070	0470	7056050A	27 IN., PRESTRESSED CONCRETE SPREAD BOX BEAM	839.00	0.00	839.00	LF	0.00	\$474.00	\$0.00
		0070	0480	7061060	REINFORCING STEEL (BRIDGES)	9,810.00	0.00	9,810.00	LB	0.00	\$1.95	\$0.00
		0070	0490	7123610	SLAB DRAIN	20.00	0.00	20.00	EA	0.00	\$558.00	\$0.00
		0070	0500	7151001	VERTICAL DRAIN AT END BENTS	2.00	0.00	2.00	EA	0.00	\$3,977.00	\$0.00
		0070	0510	7161000	PLAIN NEOPRENE BEARING PAD	8.00	0.00	8.00	EA	0.00	\$567.00	\$0.00
		0070	0520	7161002	LAMINATED NEOPRENE BEARING PAD	16.00	0.00	16.00	EA	0.00	\$600.00	\$0.00
	Project J	1S3362 - To	otal Value	Posted to D	Date as of Report Generated Date							\$49,600.44
221118-A03 Overall - Total Value Posted to Date as of Report Generated Date									\$49,600.44			



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Line Number	ltem Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0150	6161005	CONSTRUCTION SIGNS	3/7/23	3/14/23	212.00	SQFT	For road closure of bridge S0639	4.959		5.268		Paying for 3 extra Road Work Ahead for advance warning before soft closures. For a total of 48 square feet overrun.
0160	6161008	ADVANCED WARNING RAIL SYSTEM	3/7/23	3/14/23	2.00	EA	For road closure of bridge S0639	4.959		5.268		Paying for plan quantity.
0170	6161030	TYPE III MOVEABLE BARRICADE	3/7/23	3/14/23	14.00	EA	For road closure of bridge S0639	4.959		5.268		Plan Quantity was installed as shown in the plans.
0310	8061019	SILTFENCE	3/7/23	3/14/23	2,691.00	LF	Bridge S0639	4.959		5.268		Northeast side of bridge 185° 277' 160° =622' Northwest side 169° 308° 308° 309° 173° 173° 173° 173° 275° Southwast side 765° Southeast side 547 620°+757°+765°+547°= 2,891° of silt fence installed.
0380	2160500	REMOVAL OF BRIDGES	3/9/23	3/14/23	1.00	LS	bridge deck S0639	4.959		5.268		Removed all of bridge deck S0639.

The information below this line are details for Construction Signs (if applicable), No Data Available



Line Item Adjustments by Estimate

Mar 18, 2023

Contract ID: 221118-A03

Project	Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
			Туре	Adjustment Type	Number	Date	By		
J1S3362	0150	CONSTRUCTION SIGNS	Material		1	Mar 14, 2023	SYSTEM	(\$1,749.00)	
				- Total				(\$1,749.00)	
			Material - To	otal				(\$1,749.00)	
			Overrun	Overrun	1	Mar 14, 2023	SYSTEM	\$396.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) due to user summec1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					1	Mar 14, 2023	SYSTEM	(\$396.00)	
				Overrun - T	otal			\$0.00	
			Overrun - T	otal				\$0.00	
	0150 -	Total					(\$1,749.00)		
	0160	ADVANCED WARNING RAIL	L		1	Mar 14, 2023	SYSTEM	(\$100.00)	
		SYSTEM		- Total				(\$100.00)	
			Material - To	otal				(\$100.00)	
	0160 -	Total						(\$100.00)	
	0170	TYPE III MOVEABLE	Material		1	Mar 14, 2023	SYSTEM	(\$2,800.00)	
		BARRICADE		- Total				(\$2,800.00)	
			Material - To	otal				(\$2,800.00)	
	0170 -	Total						(\$2,800.00)	
	0310	SILT FENCE	Material		1	Mar 14, 2023	SYSTEM	(\$4,951.44)	
				- Total				(\$4,951.44)	
			Material - To	otal				(\$4,951.44)	
	0310 -	Total						(\$4,951.44)	
J1S3362 ·	- Total							(\$9,600.44)	
Overall -	Total							(\$9,600.44)	